O 2 @ -2 @ -2x-2

x3—2_x3—2x+2x—2_x 2x—2
x2-2 x2 =2 B x2 =2
L2 x, WA 20— 2




x o e A A = 2% 4 5x° +4 & HZA B 2 Y 1, KOl
| B ?

2+ 1 013, X7} ~6x 42 o]k, o] v, Tk B 2 ot
@x2+2x—|—2 @ x24+x+2 ® x2—x+2
@ x2-2x+2 ® x2-3x+2

B ~

A=B(2x+1)—6x+2 oA

B(2x +1) = 2x® + 5x% + 6x + 2

S B=(2x3+5x2 +6x+2) + (2x+ 1)
=x?+2x+2
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ru
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@) (a+b)2(a-b)> = a* - 22 + b*
B (—x+3)% = x3 - 9x2 4 27x — 27
@
®

(
(a-b)(a®+ab-b?) =a*-b*
(

p=D(P*+ (P +1)=p* -1

B

(x—y-1)2=x>+y>+1-2xy—2x+2y
(=x+3)3 = —x + 9x% — 27x + 27
(a—b)(a® +ab+b*) =a*-b?
(P=Dp+ 1>+ 1(p* +1) =p* -1




4. (a+b-c)(a-b+c)E ANSHH?

D a? +b% -2 -2bc
@ a?+b%-c%+2ab

® a®-b?-c?-2ab

@ a®-b%>+ % -2bc
@(ZQ—bz—C2+2bC

B

at+b-c)la-b+c)
={a+(b-c){fa—(b-c)}
=a?-(b-c)?

=a?-b% -2+ 2bc




(x* +ax+2)(x* + bx 4+ 2) E AAAS o), T} 3 2] AFF 250
o] E|A| ot 44 a, bl tiote] a + b 2] FE2?

N w

@ -2 @—1 @1 @ 2 ®

B

(x3 +ax +2)(x® + bx + 2)

= x5+ bx* + (a+2)x3 + (ab + 2)x® + (2a + 2b)x + 4
(x2 9] AF)=(x* AF)=00]B=
ab+2=0,a+2=0

et g =-2, b=1

La+b=-1




6. MYFHNA=x24+3x-2, B=3x>-2x+1,C=4x>+2x-3 9]
tfoto]
3A — (5A — (3B — 4C)) + 2BS 7Vk3] 51?2
O 3x2+12x-13 @ -3x2+24x+21
@ 3x2-12x+21 @—3x2 —24x+21

® x2+12x+11

B ~
34 — (5A — (3B - 4C)) + 2B

=-2A+5B-4C

=-2(x* +3x-2) +5(3x% —2x + 1) —4(4x*> + 2x - 3)

= —3x2 - 24x+21
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X X X

®2t @31 @ @14 O sF

B

o (s+1) (1424.3)
X X X

=x2(x>+1)(x2 +2x+3)
s 62 A
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(10° +2)7 ] 7 Aol o] 5:749] L Fopoiel,

D 15 @18 ® 21 @ 26 ® 28

&8

FAE A7NsHA

1015 + 2% + 3 x 2 x 10°(10° + 2)

=10 +23 4+ 6x 100 + 12 x 10°
=10+ 100 x 6+ 10°x 12+ 8
“1+6+1+2+8=18
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ot

A, (2 - 2)(x +1)(x)

&

sAel 2 W, 2a-b°] #

f(x)7Fx 9l ot

9.

-16
-1

SIH 4a + b

95
o




10. 93 2 +ax® +x+b7Fx? —x+ 12 ro|8od o, a - b 9]
®e?

2x3 +ax®> +x+b
=(x2-x+1)(2x+¢)
=234+ (c=2)x +(2-¢)x+c
ca=c—-2,1=2-c¢, b=c
c=191B2 g=-1,b=1
Ta—-b=-2




11. RE A% xof tiate] P(x2+1) = {P(x)} +1, P(0) = 0

27} of5ke] A P(x) 9 ASS] 7

Do @1 3 2

@ 3 © F=3] W

B

P(x) = ax® + bx + c 2} 5tH

P(0) =04 c=0.. P(x)=ax®+ bx

P(x2+1) = {P(x)}* +10]B2

a(x> +1)2+b(x2 +1) = (ax®> + bx)?> + 1

ax* +2ax? + a+ bx®> + b = a®x* + 2abx® + b?x% + 1
o] A48 vl Lot

a=a’ 2ab=0,2a+b=0b% a+b=1
a>=a%ta+b=194

(a, b) = (0, 1), (1, 0)°] H=H|

o] % (1, 0)2 2a+b = b WE3IA] FOHE (4, b) = (0, 1)
P
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@ 1 @)2 @ -2 ® -3

~&B

® -1

(i) A= kol #sto] Hestd
(x> =2x+1)k+ (x-y-1)=0
o] Ao] k9] Zholl ARl AHT 22
-2x+1=0,x—y-1=0
Lx=1,y=0
o A(1,0)
(i) A(1,0),B(b,1) 1A
AB = V20]B2=
AB= /(b-1)2+(1-0)2= V2
b>-2b=0, b(b-2)=0 .. b=0,2
sobo ghEo] 92 2

N = =




13.

A (1 +2x— %) = ag + a1 x + azx® + -+ + azex?0 ©] xof of
FSAY W, ap + az +as + -+ + ais + az & F2?

®-20 @-2 B0 @2 @)

4t

Q9] gl x =15 WA

2 =ag+ar+ax+as+---+ag+ayp--O
@9 o] x = -1 s
(-2)"°=ap-a1+az—as+---—ag+ayp--©
©+©% 3

210 4 (=2)19 = 2(ag +az +as + -+ + as)
2x21% =2(ap + az +as + - + aso)
“ap+as+ag+ -+ ag +as =29
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14. thg 197 o gzl 2
AgwA o 72, A2, ¥o1E 47 a, b, cot

A
AgwA7t et o] A%
O

S, o + b3+ 2 9 F2?

@® 12 @ 18 ® 21 @23 ® 30

Va2 £ b2 + 2 = 3, abc = 6, 2(ab + bc + ca) = 16
(a+b+c)?=a®+b?+c?+2(ab + be + ca)
(a+b+c)?=25 a+b+c=5(" ab,c=FTF)
a® + b3 + ¢ — 3abe
=(a+b+c)(a*+b?>+c?—ab-bc—ca) --- O
@©ell 22t i ]lshd
al+b3+c3-18=5x%x(9-8)

a®+b34+c3=23




15. a+b=10°]2a%+b?>=-1<L 1, 2005 4 p2005 o] ZF2?

®-2 @-1 @0 @n ® 2

B

b=1-a %5 d®+b* ol Y5t Festd
a>—a+1=0(a+1)(a®>-a+1)=0

ad+1=0 . a®=-1

mRE7ER] R o b = -1

2005 | p2005 _ (8Y668 . g | (pB)668 . — g 4 = 1

B

@ b | 32 b7} o] T B,
A-a+1=0°N"a?=a-1
ad=a*a=(a-1)-a=d>-a=-1

apE7bR] 0.2 b = 1




